
Determine a, and the equation 𝒚 = 𝒂𝒔𝒊𝒏𝒙
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Determine a, and the equation 𝒚 = 𝒂𝒄𝒐𝒔𝒙
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Determine a, and graph  the equation 𝒚 = 𝒂𝒔𝒊𝒏𝒙
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Determine a, and graph the equation 𝒚 = 𝒂𝒄𝒐𝒔𝒙
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Determine b, and the equation 𝒚 = 𝒔𝒊𝒏𝒃𝒙
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Determine b, and the equation 𝒚 = 𝒄𝒐𝒔𝒃𝒙

1

2

−1

−2

−
π

2
⎯⎯

π

2
⎯⎯ 𝜋 3π

2
⎯⎯⎯

2𝜋

1

2

−1

−2

𝑝 =
2π

𝑏
⎯⎯⎯

𝑏 =
2π

𝑝
⎯⎯⎯

𝑏 =

−
π

2
⎯⎯ π

2
⎯⎯

𝜋 3π

2
⎯⎯⎯

2𝜋

1

2

−1

−2

−
π

2
⎯⎯ π

2
⎯⎯

𝜋 3π

2
⎯⎯⎯

2𝜋

1

2

−1

−2

−
π

2
⎯⎯ π

2
⎯⎯

𝜋 3π

2
⎯⎯⎯

2𝜋

1

2

−1

−2

−
π

2
⎯⎯ π

2
⎯⎯

𝜋 3π

2
⎯⎯⎯

2𝜋

1

2

−1

−2

−
π

2
⎯⎯ π

2
⎯⎯

𝜋 3π

2
⎯⎯⎯

2𝜋

1

2

−1

−2

−
π

2
⎯⎯ π

2
⎯⎯

𝜋 3π

2
⎯⎯⎯

2𝜋

1

2

−1

−2

C12 - 5.2 - "b" Find Equation WS

   Trig F Page 3    



Determine b, and graph the equation 𝒚 = 𝒔𝒊𝒏𝒃𝒙
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Determine b, and graph  the equation 𝒚 = 𝒄𝒐𝒔𝒃𝒙
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